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Daily Practice 201045
Q1. Solve the equation 8x +7 = x
FxvrT= —‘55
?:r_- -4
2.1, x 2/ )
Q: ix 8 xXz-o

IxS 15
Q3. Factorise 4x - 16y
§(x - )

Q4. Find 17% of 200
°, ={0= SA a0 —2“0 o
0% f 0= 20010280 EVILTDTE 3y, 5

Q5. Calculate the speed Mgdy is drlvmg at if she travels 120miles in 2
and a half hours S —

=T=H4E

Scientific Notation 26-010- 5

Scientific notation (also known as standard form) is a way of writing
very long numbers using the power of 10.

10'= 10 102=100 105 - (00 000 1o~3‘=0~3ol

1000 ar Tgb

M.HTJ’)TH’)T&; HT U®t h th
o 0" 10 I 6" (G 6

Scientific Notation

Examples: Write the following in scientific notation

(2)48000 ~ (h)3215000 (c)0.00525 , (d)0.0009
4.gx 0¥ 3a19%10° 325x10° qxi07*

*

Write the following numbers in normal form (in full)

(e) 51x10° (f) 2.83x107 (¢) 1.093 x 108

SixoxO*I0 3833 i0:10:l0:10
210210 210 108 300 o
= 3l00 —_—

= 0.000000283
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Today we are going to learn about
scientific notation.

Homework Due!

Scientific Notation

When writing numbers in scientific notation, we are writing them so
that there is a single non - zero digit in front of the decimal point.

Greater
han or equal to

For numbers greater than 1, b> O. For numbers less than 1, b < 0.

A x10° where 1 < A <10

Daily Practice 271015 INOLSY.

Q1. Multiply out and simplify 7k + 4(3k - 4) + 2(2k + 2)
il P B a1+ A
23k Ao+4-
Q2. Josh puts £500 in the bank at the beginning of the year. He receives his
money at the end oFthe with 5% simple interest added, how much interest
-)‘ %OO £.as

does he receive?

. . loo Joo
Q3. Share ;ioso‘lsn the ratio 2:3 %-_> W x 1 %._) X3
Q4. Write 40% as 3 fraction in its SImp[est form — 24cm ==
& B

Q5. Calculate the length of GH H Teem I

x" P | i

x*= S576-324

) X252

(T8 B8 ()
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Today we will be continuing to practise questions on
scientific notation.

bAg A w
w Success? ﬁxz
* “ hx¢

I can explain what scientific notation is and & -

—_ — ~
why it is used.

o

| can write numbers in scientific notation.

—_ — ~
| can convert numbers in scientific notation
back to normal form.

Today we will be learning about indices.

November 24, 2015

Ex. 5B Q5
cientif . .

Ex. 5D Q4,5
Examples:

Ex.5EQla,d

Q2-6
1. The area of the surface of the Earth is about 5.095 x 10 square miles.
Approximately 29.2% of this is land. How m ch of the surface area is land?

0.292 x 30 xlO =|4z'-r=ruo 000 31
=l-4%'t‘+4xlo

2. The mass of an oxygen atom is 2.7 x 10 grams. The mass of an electron
at rest is approx. 30 000 times smaller than this. Calculate the mass of an

electron at rest 21‘)‘ |o—7.3 - SOOm
- =28
Ixio

Daily Practice 28.10.15

Q1. Round 26.28 to the nearest unit a6

Q2. There are 3.06 x 10 2 atoms in one gram of gold, how mcm%atoms

are in 500g of gold? 3 06Xl0 %xSo0 = |- 53)&[0
Q3. What is 64.5% written as a decimal? = Qﬂa
Q4. Write 30 out of 70 as a percentage 30 <%0 X |00 = w

Q5. Multiply out and simplify 5(%- 1) -1(x - 3.23
¢ = =K

‘ Q6. What is the valueof V if V = p2 - 3p when p = -5?
Vc (‘5)1 3('5)
Ve 5319
V-

Indi 281048

An index (pl. indices) or power represents how many times 3 number is
being multiplied by itself.

3 is pronounced " to the power of b

5 atpyrl =4

Examples: Find the value of

)5 e BxInS )2 = INARAAAAD =33
)

Txd
3 % ARAxIx2xX

= a'
£33
333 233 x 3dada3d
<3
3" xS
uf::g:nw:&ﬁ 25x3n8
!'I

Al
axaxa’ so¥

Sabtrankis ok’
Bxaxd a = ot
3ot a2 x o

3o 10b°

%l
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Laws of Indice:

There are various rules that help you work out problems with indices in
them.

1. Multiplying terms with powers

@], Rourd 6177 te 1 significant fiqure ém

4? G‘r 77 aie{ 82

G3. Solve 1/gjx - 1) - +27**n ‘q_

%L: +n

G4, Ghostbusters blasted the g}wosf pupuhhun (12000) by 30% every ®
winute for 3 m‘vtes How many ghests yere there after 3 mins?

&A- YA

Rooox 07" * lbolmh

Daily Practice

30102015

a2, A group of vitches are ages 25

Caledlate their mean age

Indices

A number with a negative power is the same as 1 over the number with
3 positive power. 2x10%: axlox10

2XIO =2 *w=lo

a‘h=%b =2=10° 11=‘\. n
k_/‘ A X 1ot
2
= a A 1O
Examples: [ .
@32 =3 (b 4—37? B =28 W) Ko
=L -1c - 2
L & By
—_—
I
RS o
I

November 24, 2015

Mulﬁlr)l\ ing term with pawer

Examples: Multiply the following

i) Sa.x 337 x 43”

= 693"

Dbexb =k

i) 3ac® x 23°

I6Q‘C‘

-
W SPOR 5 3’“0-'_-0-‘5
6bT+ISh 3x 76
xQ
-2
3)\!0-'- N q . ‘li

Today we will be continuing to learn how to multiply
indices.

Mnlﬁpl\/ing Numbers with power

1. Write each of the following in its simplest index form.
.=3é =n4 5 2
@ 3*x3 =3 ® 2x2°2 7 (© 100 l18 F @
6 = 4 o B 5 2 5 5 3
© Tx7TF o st s @ 9x9.q’(h) Ex6 =f

M Perax® @ S ® @i O P Ly ®
m %« zf @ p xﬁ" @ &xd @ 'l
= = f o =d q,“
2 (a) m’ x i (b) .\';x ¥ (c) p’g X pf (@ a? : {:’5‘
m>= e x f".? o= ob
3@ 3.2%4° (b) 4m3 <2m’ () Sm>x2m®  (d) 7y'° X 4y2 X Sy’3
§ ¥ S 1
3a 1Om |‘|-03
) 2pxayl O 10k2m3x6k 34!16 (@), 2m®xTm™ x 4m® x —
-gkzy bok ' m ~280m

4. (i) 3%(20+2‘ (i) 5023(0603 Zla:) (iii) 4xz(§;<é ixiya:)(‘ °
(iv) a®5(2a!” - a" 05) (v) 5g%h?(4g7 - 2h®)  (vi) (32 x 3%)= (3 x 3)
-0 WK~ 105k 3+ s?
A
9\% [03 l\g = 5

s\
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Daily Practice 2.11.2015

Q1. Find the value of a house that was worth £48 000 and appreciated by

4.5% per annum for 22 years. sn £ L 4is a0
T4 = o4 57 k3000 x1-045 =3 (a :
l00% + & 54 = o4 54

<N A
Q2. Multiply out and simplify 2(x - 3) + 4(x + 1) 2
Qxe~b 4 Yoo +4 =L~

Q3. Solve x+5_4+2x:_1 q(z+§) (Y .) =-1
:ﬂl3 4 =la U426 -3 —2 :;\?_._R
13w o4 w %o :-:LO

A4 20+ 2] = Txy = %'—1\—; SN

— _—

Q5. Write 0.0000182 in scientific notation = I%'lxb—s
T——

What would you get if you divided x* by x* ?

(vi) (32 x 33)= (3*x 31)

F ¥ =9
¥y
223 4T

g R -

Dividing Numbers with powers

Examples: Simplify the following

17 +7=F 2.6m7 + 24m 3. 4mP® = 2m?
or 49 6 L = 6
- o 1)
7
4 L ot 5. 12 ék'*
a = =5
2h —_—

November 24, 2015

Today we will be learning how to divide indices.

2 Divir}fng Numbers with power

kmt +ymb = (k +y)mi-?

where k and y are constants

The power of zero

Any number to the power of zero is one.

for sane  So” = 5()< 2
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Dividing Numbers with powers

1, Wiite each of the following in its simplest index form. From Pegasys booklet

s 2
@ 2°:2°232 m) 5.5 (© 125+ g’u‘(d) e F

© 20 +2(m"(r) 8%+ 8l 8. @ 3"+3% 3‘ W 4eate @
3
0 Jeex®h dedugd ® ,172°+;:f3’ o bipeb
R 3
a m pPeply @ Jed W0 Fed b @ did =g
_'Y—\,. ° x° .r § ax.‘.:‘ mt 1'; 57 °
m =m’ or | @ Gaxb ® 50" 0 ™ 0 5 oaster |
a)ZO 100 ’ II(W ,10
w edt o S g ™ T T N LW
2. @) ) @ o (d) 4500 .
14x" 36x" - O 48 o b
2x7° .1‘. 12x° e 3= 8x~’ a-x-. 8x° 6x
Ix
2x* xx° X 6x ({) 10x% x 2x2 (g) =
(e) T ot 10x
s S
® 3x - 46"
» X ¢
¢ *Suectss? ﬁ Daily Practice 3.11.2015
w

I can multiply numbers with powers e e C

9
B

I can divide numbers with powers

Today we will be learning how to put a power to a power.

Gy

x®xxts x*
2
x3)
>
Y xtaxtxx =t
=2
4
£ )
Ixtor &)
5 S 5 S »
XXX XX =X

%) (@2)

Rx‘ )gaxx * '4 X‘

Q1. Calculate the value of a car that was worth €4500 and depreciated

by 7% per annum for 2 years. <
N 4s500x0-93
[00% % =93% =093 3392-
:i a-05
. 2x-5 «x
Q2. Solve the ec[ua’txor’)lb +5=3¥ . ?1‘3‘
A%x-5)+ dx= 1§ ) Ux-lo+3x=1d 2=t

Q3. Calculate the length of AB
x5 -45*
x*< 36
X\ =6

AB=6x2=m

34118

3 DnHimJ 3 power to 3 power

Think about what happens when you write (27)

(ak)b = akb

Examples:

G @ =3 @Yy G (4T

(-.'\ (pzxz,;xp’)5 ) <3i)= Qo
-p PT = ‘T)E" - ?Lar:’
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DuHihg 3 power t0 3 power

Write each of the following in its simplest index form.
2 . 4 \o . o
@ =3om =% @ 0w ey=a
5\3 " 7 8 P 53 a8
© @@=k o el @ V=R ®» &= S
O oYext o oV ey e @sd 0 o) em
m ereb @ oY p® @ @K @ e

@ ¢ W 6 G

= 9’ aséb™ l0oooc0a "
100 000

——

o®

-
=

From Pegasys booklet

Today we will be working on Problem Solving Skills.

Today we will be continuing to practise

mixed questions on indices and also learn about
fractional powers.

November 24, 2015

4.71.2615

Daily Practics
Y

Q1. Round 41226 1o 3 significant figures ~> 41200

Q2. Mu?ﬂp?y out and snnpﬁfy 2f-34f- &)
-3+

i

Q3. 45.6 x 560

:%B% %[00 = 28OS

Q. Write 6 9@96099 in scientific notation

6 x(0
—_——
Q5. Solve xT_3+4Tx=15 Lerr=b
3x-9+8==90
be=9%

x=3

Daily Practice 6.11.15
Q1. Write 0.0001706 in scientific notation | IO-*
Q2. Multiply out and simplify 7y - 2(y + 1) + 3
Y-y —-3+3
. ) Bx-1)
Q3. Solve the |nequatlog‘q2x—Ts 4 <4
Rx - (3=-) & 16
. Bx -3+l &6
2“_ = ‘5 “ | S:ug.:.((:
3 (=)
°s "‘55 X£3

Q5. Calculate the value of a car tha f as worth £15 000 and
depreciated by 2.4% per annum for 3 years

(00% - 247, <36,

0934’ A £|50(X):

Applving the rules of indices to queqﬁnnq

FRI45F)

————
——

Simplify these expressions.

@) 2 X 3:". ) 3539;-;., (©
© 3 x_(zggy'r(n g {1; ©
(i) ]rqg'“rf G m (m —ma (k)

”\ =M
X oxx? ’ m)*

(m) ¥ (o)

From Pegasys booklet

12p7;:4‘, (d) so.b”sgqb‘*

(Y <8 @ 72273
Y el

2x7(x” +3x7) () Sa (Za -3 ),
2T bx b Io. -19a®

5c’ ><4C7 ( ) (3{1 ) x4q

T"i's, ¢ ‘M’ %"'L" :
(3n>)’ 3 aap ¥ '}'G'F(Afp” ﬁ * 1 Qary

9x’y _1' (4ab)’ .qapl’@ x8p° ,qP; 3a’bx dak’

X x2x7 x4x?
2x7*

(u)
10x™

(v) ]5x1><4x ><2x1 (w)

(5x7 x 6x7" x 4x"")’
—
(G4
3205 LB
R
=3
= _3 ql LR

——
——
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Daily Practice 9.11.15

Q1. Round 17183 to 2 significant figures
—_ 11000

Q2. The diagram shows a circle inscribed within a square.
Write down an expression for the shaded area

be e
32 ﬁ’

Q4. Solve 2ol 30x

x30 0 x3o
1o (2 -{) +3(30x) = 540
V-6 +90x=MO
|b& -.SSO
x =5

Eractional Indice: a-u-1s

If a power is a fraction, the denominator is always the root and the
numerator is always the power.

power'\ m
— —m
7n ) n ’

root

When the root is 2, this just means square,root.

IT o (F)
Examples: ) ) S
(Sq } - ﬁj‘ % (iii) ag-a-; (iv) E
b

OF —f;; =Tlf o

November 24, 2015

Today we will be learning about fractional
indices.

Homework Online due 16.9.15

Eractional lndices Write these with roots and

Evaluate iihe following:

<a>|u -\’F a @1442 nebss
(h>813
(b) s \f— 2 =18

@3> = r 9\ ) 492 R (vii) _.l

: \I'T'f o VP 37
" = q:3 =343 - i
s L z - 3 F

 100% l
Vioo® = 1000 B A%
S a
3 L ¢ S
TX\E

Fractional Indices

Rewrite the following so that they have roots and powers
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Fractional Indice:
Rewrite the following so that they have a fractional index

DJx =x?
A D) -y
@i‘/;:% 3
O~ x

2

November 24, 2015
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